Chemistry 210 - Stoichiometry Practice 3

1. Complete the following table. You must consider the limiting reagent.

Nag) +  3Hyy > 2NHyy
Mass at START 112 ¢ 18 ¢ 0 (none present)
molar mass 28.0 g/mol 2.0 g/mol 17.0 g/mol
Moles at the START 4 9 0
Moles REACTING -3 -9 +6
Moles at the END 1 0 6
Mass at the END 280¢g Og 102 g
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: Camlder the ’reaction of 1.50 g of magnesium metal with 2.00 g of aqueous hydrochlo id
A. What is the balanced chemical equation? ! yeroehonic acic.
Mg) + HCQ —> Mg 3, + Has 2
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B. What is the limiting reagent?

_ 3696, 1
C. What is the theoret?caf?yield (in grams) of H, gas?
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D. What mass of the excess reagent remains?
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